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Question ID : 98958016900
Status : Answered
Chosen Option : 4
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Question ID : 98958016904
Status : Answered
Chosen Option : 2

Q.3 Select the number-pair in which the two numbers are related in the same way as are the two
numbers of the following number-pair.

2:9
Ans X" 1.8:65

X 2.7:50
/X 3.3:26
of 4.4:65

Question ID : 98958016894
Status : Answered
Chosen Option : 4

Q.4 fFr=fafaa afieor & 9@ T & forg sa¥ o &t Seaneit &t simue & seemn arfeg?
731+ 13 +450 - 25 x 43 = 142
Ans  of 1 133743
75 2.731 3R 450
/X 3.450 3R 25
< 4.13 3R 25

Question ID : 98958016893
Status : Answered
Chosen Option : 1

Q.5 Select the set in which the numbers are related in the same way as are the numbers of the
following set.

(8,112, 28)
Ans X" 1.(12,216,34)
o 2.(14,364,52)
/< 3.(16,282, 36)
/X 4.(18,216,22)

Question ID : 98958016895
Status : Answered
Chosen Option : 2
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Question ID : 98958016891
Status : Answered
Chosen Option : 1

Vg s sty # free Pge s

Ny /1
N

Ans of 1. 30
<2 31

X3 32
<4 28

Question ID : 98958016901
Status : Not Answered
Chosen Option : --

Q.8 Fafafed ar 2r=El & @ diF 21eg ver AfYa adics @ g 919 & SR Yeh e &1 39 31T 2AE i
gl
Ans X' 1 Rifed

X 2. wasfa
< 3. TR g

J4. LTid

Question ID : 98958016890
Status : Answered
Chosen Option : 4

Q.9 Ul 'Hesh & I avg Haldd § S ‘hexfoer ' § Hefda g1
Ans X" 1. el ger
X 2. wEEe

o 3. Rt

K 4R

Question ID : 98958016885
Status : Answered
Chosen Option : 3

Q.10 = gl A, B 3R C & oftar 3153 o1 et AT 39 avg faaRa forar san & faf C ot A S ofar




31freh o= fAeter @ ofik B &t A & i 111 o1fdres o= Aetar 21 B &) fohast wug fast &2
Ans  of 1 51
X 2.66
/X 3.65
X 461

Question ID : 98958016892
Status : Answered
Chosen Option : 1

Q.11 TR &R} & Halsi o1 99+ &< sl foh & 71 a1ari Y sjizaen d Reh Tl A i w0 @ 7@ s
TR ST &l GRT A

X__yq__txz__qsqtx__yqs_t
Ans Xlzyqsyzzyq
&< 2.zysqyyyzt
\f&zysqyyqu

X4.yysqzyzyq

Question ID : 98958016886
Status : Not Answered
Chosen Option : --

Q.12 F=fafEa sjaen 7 wi #t ww us fRig (?) & vum= R smerfi?

77,92, 125,178, 253, ?
Ans X" 1350

/X 2.351
/X 3.353
o 4352

Question ID : 98958016897
Status : Not Answered
Chosen Option : --

Q.13 Tfe DIRECTOR &t 49953269 & &U # ehigag fohar am &, af FRIENDLY <t foh WahR shigag
foram sETIT?

Ans X" 1 68955438
/X 2.79954435
o 369955437

/X 4.69845447

Question ID : 98958016883
Status : Answered
Chosen Option : 3

Q.14




Ans

e e s Tt sy R i ST e T N ST Rt &

e Ymr o OReel ofe ®r H 9% Y Fum fimr Eem)

4

H
=2

H

v o

o/

N/

| |

TZ(,
/.

70

474

||

¥

=l

=

Question ID : 98958016903
Status : Answered
Chosen Option: 1
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Question ID : 98958016902
Status : Answered
Chosen Option : 3

Q.16 39 T=IT T TG & (oI TH HEAT] 391 avg § Hafda g o1 fos =i age=a i d=ad
Tafda &

(4,113,7)
Ans X" 1.(8,155,4)
o 2.(5141,4)
/X 3.(6,161,4)
/5 4.(3,118,9)

Question ID : 98958016896
Status : Not Answered
Chosen Option : --

Q.17 o= & ur & 31 s ufaat ;AT s o §, 56F T e W 1 T 6 7% $ geaw
g 1 5 HET I Gole & WA a6l HEAT AT ST

Question ID : 98958016899
Status : Answered
Chosen Option : 2

Q.18 A+BawT S g AdgT g Bl
A-Baraf g Ad& @B
A xBTS g'AurE @ BT
A+BaTfgAaarg B’
g D+P+I1xK+T-RE @RFATGRa 2 P A?
Ans X1=q-|—§
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X 3.aa

o 4 3@ @Ry

Question ID : 98958016887
Status : Not Answered
Chosen Option : --

Q.19 fA=faf@a nfafafdat @t arfdhe ik a1 s & sxafeda =31

1. it A smemeil § Iufeda g

2. yder dlvgar A g fi gion

3. ehietot § EIfE«T AT

4. Fictet § gif@s & fog smaes &=
5. arftfer uier - et 12

6. TRRUTTH 9ot - el 12

Ans X' 1.56,4,2,1,3
/X 2.56,2,4,31

3564231

/X 4.6,54,2,3,1

Question ID : 98958016881
Status : Answered
Chosen Option : 3

Q.20 F=ifef@d ar sigR-Twgl A | o= s1eR-wg e Rffa s 9 o 99 & ofk e sremT 8139

3T 31&R-UHE &l 9T
Ans  of 1 UNRW
/X 2.PTXB
75 3.DHLP
/X 4.RVZD

Question ID : 98958016889
Status : Answered
Chosen Option : 1

Q.21 ek hi< UToT &, ADVISORY ekt GDLYRVBU forar Sirar &1 39 9ot & CHEMICAL &t & forar

mg?

Ans  off 1 KFPHFLOD
75 2. JFPGFMOD
/5 3. MFOHFLOD

75 4. KFQHFLPE

Question ID : 98958016882
Status : Not Answered
Chosen Option : --

Q.22 fmfafaa ar d=ei & @ = dear g [ffa a8 9 ua S & 3R U S1erT 81 39 el

T 94 HifSigl
Ans X" 116
W 264
/< 3.49
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Question ID : 98958016898
Status : Answered
Chosen Option : 2

Q.23 I AeE-JiH I T o T 3l 2reg I avg @ Haifda & o1 o FafoifRe sree-gma # 5t 2reg
Hafda &1

foreqe : gew
Ans X' 1 o geel
x2.ﬁﬁzam?ﬁ?
o 3. 7@ Fem

7 4. g Gge

Question ID : 98958016888
Status : Answered
Chosen Option : 1

Q.24 39 farerea o1 T a3 STt R S1aR-Tg @ I avg Hafdd & S gERT S1eR-Ug uge JER-
g | efda 81

SMKJ : VONL : : DPOA : ?
Ans X" 1 HRRD

75 2.GSsD
/X 3.G6ssC
o 4. GRRC

Question ID : 98958016884
Status : Answered
Chosen Option : 4
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Question ID : 98958016905
Status : Answered
Chosen Option : 3

Section : General Awareness

Q.1 gag fFe URdT wwa & 91a1 ST 161 ok 3181 Hithideh aigR 8?

Ans x1_m
/X 2. ufm e
/< 3. sifesn
o 4 RfE

Question ID : 98958016554
Status : Not Answered
Chosen Option : --

Q.2 2018 # T J@eh ol F.&. fasa BRI & 273 =09 T & GefAa forar mar 82

Ans X' 1 deel gd
75 2. st ey
o 3. s e
75 4. e area

Question ID : 98958016570
Status : Not Answered
Chosen Option : --

Q.3 "Rig; T Tt R AR Pt § & fra e @ g2 &2

Ans (1.2521’4?-?[
X 2.=frgd
75 3. Afeergn
X 4. gada

Question ID : 98958016555
Status : Answered
Chosen Option : 1

Q.4 af1757 & & 1S & T1g, ST A WRA | AeTifaen afwh gifle

Ans X‘Im
o 2 @i

/X 3. 9RR

/X 4. reare

Question ID : 98958016568
Status : Answered
Chosen Option: 2

Q.5 Matters, which are not points of order, can be raised by way of Special Mentions under Rule

of Lok Sabha.
Ans  of 1 377




K 2.214
/X 3.223
/X 4.302

Question ID : 98958016571
Status : Not Answered
Chosen Option : --

Q.6 R YR THGRTAN THeATRR &t 741 ST ARt qrEpR 2019 & Fwnfaa forar mar?

Ans

X 1. srge e
/X 2. R geza
o 3. AR mreT
/X 4. it g

Question ID : 98958016577
Status : Not Answered
Chosen Option : --

Q.7 urit & urq-ure forar gQ &l Y sje @t @t wet ST 87

Ans

W 1 g
X 2. SiereHwAE
X< 3.

X 4 aé@

Question ID : 98958016563
Status : Answered
Chosen Option : 1

Q.8
Ans

1973 # uistee TSR Fi Jwea It e | i et ot

25 1. sfiaRenfe
o 2 Smatde
/X 3. e mieh
X 4 g

Question ID : 98958016564
Status : Answered
Chosen Option : 2

Q.9 Flower colours of red, pink, blue and purple come mainly from pigments called

Ans

75 1. Chlorophyli
x 2. Carotenoids
x 3. Lycopene
J 4. Anthocyanins

Question ID : 98958016560
Status : Answered
Chosen Option : 3




Q.10 A/an stock is the stock of a large, well-established and financially sound company

that has operated for many years.
Ans x 1. Cyclical

o 2 Blue-Chip

x 3. Income

x 4. Defensive

Question ID : 98958016557
Status : Answered
Chosen Option : 2

Q.11 2019 #, ISR FAFSHT Iuug RISAT-2B &t o feya wefier ue sialer &g gRT Owedrgds

@i fovar T G
Ans x1ﬁwg—<—q
/X 2. R
X 3.5
o 4 siRare

Question ID : 98958016576
Status : Answered
Chosen Option : 4

Q.12 YR fher TRIgA AT IRA F fFradad g gr a7

Ans X 1 A
X 2.8
W 3.

/X 4. peata

Question ID : 98958016575
Status : Not Answered
Chosen Option : --

Q.13 3 ASR (Ursa Major) 773 &l WRA & fohd A @ oft 11T Strar g2

Ans X1 wsh
X 2. 7S
75 3.2
W 4 TR

Question ID : 98958016558
Status : Answered
Chosen Option : 4

Q.14 Tudyg wrdargl 7, 'srehrer & R dfest (Ballot) & S9eh! vmufaerar & rgar ufa i@ fra=

et Y SoT it rwia & S 27
Ans X 1.19

W 2.2

X 3.21

/X 418




Question ID : 98958016572
Status : Answered
Chosen Option : 4

Q.15 Qeh R & I g1 3R 3 A SiTRfe fReen & o8t iR wite &eat it uferar o6t aram gt 82
Ans (13‘.@11

75 2. =it

/X 3 afm

75 4. 2f

Question ID : 98958016561
Status : Answered
Chosen Option: 1

Q.16 frd fora 1% A g onf & ufds t 'snfe T oY wenfora fmam?
Ans X 1 T R ER

X 2 e

/X 3.z Eifein

W 4 R

Question ID : 98958016567
Status : Not Answered
Chosen Option : --

Q.17 <A 2019 a F A & FgaR, frw wRda g J et Hr e a9d w7 82
Ans X" 1 fafenm

o 2.

25 3. SR we
75 4. <t
Question ID : 98958016566
Status : Answered
Chosen Option : 2
Q.18 o=t & = ST 3T glar @ St oigR @l A+t 9 Sitsan g1

Ans J 1. €3 (Petiole)
75 2. 7efRr (Midrib)

x 3. arguvf (stipules)
75 4.1 (Vein)

Question ID : 98958016559
Status : Answered
Chosen Option: 3

Q.19 Ef3ar ety dexAeme AifeRiT gAfAe w1 gERT Xl ford g & smaifSia favar mar ur?
Ans  of 1 o

/X 2. sifea

75 3. mmm




X 4 wteh

Question ID : 98958016578
Status : Not Answered
Chosen Option : --

Q.20 f=faf@a 7 @ o g eneeye fearsw ¢l &2

Ans

X1 e
o 2 s
X 3w

p R

Question ID : 98958016562
Status : Answered
Chosen Option : 2

Q.21 T@Eise e Pl Qe | @ fora @ & go1g8m &?

Ans

F R
75 2. fndve
o 3 it
X 4. g

Question ID : 98958016573
Status : Not Answered
Chosen Option : --

Q.22 Tz @ A areft g ) o1 e sk g @)

Ans

KX 1. TR
7< 2.
/X 3. gamEer Ant
4. g

Question ID : 98958016565
Status : Answered
Chosen Option: 1

Q.23 aTsw US MERATESl Y&ich ol st fAmfarfaa d @ fores forar 82

Ans X" 1 frar e
o 2 g
X 3. grraed
/X 4. srufa g
Question ID : 98958016569
Status : Not Answered
Chosen Option : --
Q.24 is a type of good for which demand increases as its price rises.
Ans X" 1. Club Good

x 2. Capital Good




x 3. Consumer Good

J 4. Giffen Good

Question ID : 98958016556
Status : Answered
Chosen Option : 3

Q.25 f=fafaa & @ sia-ar 231 2020 F Fiwr sieR-17 afger Ay wu i dsarit sm?
Ans JI%TRH

X 2. g
/X 3. 3ure

X 4=

Question ID : 98958016574
Status : Not Answered
Chosen Option : --

Section : Quantitative Aptitude

Q1 afy 3o Fr 94F =T 13% FA T & AT, dF FHH &G Tohefel A FH & A?
Ans X 1. 26%

<2 13%

< 3 21.69%

v 2431%

Question ID : 98958017258
Status : Answered
Chosen Option : 4

Q2 31 3 #r GEAT 54x29y6 (x > y) T 72 ¥ femsw & A (2x + 3y) FOAWT F4T 87
Ans X113

<2 38

V3 23

X 4 32

Question ID : 98958017265
Status : Answered
Chosen Option : 3

Q3 Ilﬁ'cote=5x3ﬂTcosecB=E (x;t(})%‘,?-ﬁs(xz—é) F A &




Question ID : 98958017275
Status : Answered
Chosen Option : 4

Q4 faar amr &= 3T (A M) B e F oF a6 F SR fet fr g wr g ¥
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o | st = ]
&4
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o
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form a9, 2t et 3 Rt @ O T s §2
Ans  X1.2012

X 2 2011

V2 2009

X 42008

Question ID : 98958017277
Status : Answered
Chosen Option: 3

Q.5 3cm3ﬁ¢2cmﬁmmﬁaﬁ'q€ﬁﬂ?§a’f‘$méﬁr§ﬂ'i3 cm ¥ 9w swafass
(transverse common tangent) & &2 (cm ) &

Ans  of 1. 12
X286
X3 8
X 410

Question ID : 98958017270
Status : Not Answered
Chosen Option : --

Q.6 0 &g = el 39 & w1eT fig P & PA ¥R PB Tt §1 A 3R B, 39 W fig &1 =fy <APB =
72°, A LOAB TR #:

Ans  of 1. 36°
X 2 24°
x<318°
X 4 72°

Question ID : 98958017271
Status : Answered
Chosen Option: 3

Q.7




AABC &, £B 3R £C & wa-gfasT=s, i & 3@X O W e §1 3R £BOC = 1068° § & <A #r
AT E

Ans X 1. 84°
X2 16°
Vs 32°
X 4 106°

Question ID : 98958017272
Status : Answered
Chosen Option: 3

Q.8 A sfafge 2640 Fomam & 38K 8 °F 1 wwar ¥ B wiafew 360 FRET ¥ 3T 6 T FH FET E A
s B #r sfafew & Fogd 1 o &

Ans X1.5:4
v216:9
X39:16
X44:5

Question ID : 98958017263
Status : Answered
Chosen Option : 2

Q.9  wF fow 120000 3T HEw F FE WHES 20% T 5% F & FHAF g W Tl ¢ 97 35E
TFAT W 71800 B Har ¢ 3T 3@ 220000 F &9 & &) W A 9foRiT (TF SuFed T
TF) HT 87

Ans X1 23.46% W
X 2.17.65% g
V'3 17.65% @reT
X 4 23.64% gfer

Question ID : 98958017260
Status : Answered
Chosen Option: 3

Q.10 A 3it B ¥ 3= &7 30T 245000 ¥1 A 3799 397 7 85% 3T B 319 397 7 70% T H4ar ¥l AfE
T 3T T9T §HF £, O B F 394 (2 #) F 7

Ans X 130,000
~< 2 18,000
+ 315,000
/< 412,600

Question ID : 98958017261
Status : Answered
Chosen Option: 3

Q.11




e afe & @ Teg¢ Wi, e @ 9w S S 3000 off) SE 3 aEgat ST wER 10%
@, 5% @ 3 15% @i o 3= Ram 3% @ sie T amvere wioee &

Ans K1 5% @
X 2 5% gifer
X 3. 10% g
Voo g o T o=

Question ID : 98958017262
Status : Not Answered
Chosen Option : --

Q12 Zfr a3+ b3=1344 3K a + b =28 ¢ G (a + b)2 - 3ab TR ¥
as K116

X2 24

<3 32

v 4 48

Question ID : 98958017269
Status : Not Answered
Chosen Option : --

Q.13 Rar T gz 3@ (IR TH) & FEer F oF T F N e fr wwwr F gafar ¥
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2013 # Remfiat $r F= FEm F1 T 7 2

ans X1.101 : 117

X2 153 : 229
'3 229 : 153
X 4117 : 101

Question ID : 98958017278
Status : Answered
Chosen Option : 3

Q.14

‘™

T cosx=_7ﬁ GE n(x(a? g, @r 2cot’x— 3sec’x =T AT &

Ans X1 8
X268
X3 4
V2




Question ID : 98958017276
Status : Answered
Chosen Option : 3

Q.15 femm aw &= 3w (IR ) & THe F oF 6t F e FeafEt & dem @ g

=School A =School B

900
500 500 820

750
m 70, 750
“‘;m 600
500 500 Wm0

400
200
100

o
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§E

H

oF a9 &7 3@ F aiua e A 3t B # fagmfiet & gw we @& A (@ & 3 TuE o)
T §?

Ans X 1.1122.57
v 2 1331.67
X 3. 1133.57
X 4122167

Question ID : 98958017279
Status : Not Answered
Chosen Option : --

Q.16 oz zafemsl & sfwa g 32 ¥ 71 afy o s =afeaat a1 S g se & e 3 39 58 S §
7T SafFad # g F 9 I F W §I ¢ G F § F9G 73 & g (a9t F) Fw g

Ans X 1. 53
X 2 50
X 3 58
v 62

Question ID : 98958017259
Status : Not Answered
Chosen Option : --

Q.17 Tl WfPaa Oy 9 21% @ 2 T8t & fOw wehaiy samer 29,282 ¥ o6 &X @ 3t 3o & #EEw & fw
THHT R T4 (2 H) E

Ans X 1. 8,750
v 2 8,400
/< 3. 8,000
«< 4 8,500

Question ID : 98958017264
Status : Not Answered
Chosen Option : --

Q.18 337 4(cosec?65° — tan225°) — sin90°—tanz63°ytan227°=§, g ay FAFL

Ans x 1. -1




Question ID : 98958017274
Status : Not Answered
Chosen Option : --

O gfr k=245 g ar & —-x3) FTAA &
Ans  of 1. 76

X2 52

<3 B2

<4 76

Question ID : 98958017268
Status : Not Answered
Chosen Option : --

Q.20 femr T €3 INW (AW AE) & Tt & et F oy aut & G g d)

=SchoolA  =School B

500
00 800 820

750
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T A 3t B & Reafial &1 oo vewr #, oo Tow a¥ & geer # e a9 § mew 9ftE gfoua
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Ans  of 1. 2009
X 2 2010
X 3 2011
X 42012

Question ID : 98958017280
Status : Answered
Chosen Option : 4

Q.21 gy yeenfyat & fr & &1 @7 s 2 0 5 ¥ TfY 9Ee ieendr 5 uE & 350 G weeh &, & gt
Yoenfet $r ofy (km/h) F 3T 82

A of 1105
X 2. 350
<3180
X 4 165

Question ID : 98958017257
Status : Answered
Chosen Option : 1




Q.22 T AABC ~AQPR 3T S‘;‘:g =2 ¥ I AB=12cm BC=8cm MAC=9cm¥ PR
T

Ans X118
X215
X3175
v 4 20

Question ID : 98958017273
Status : Not Answered
Chosen Option : --

OB g xt+x =47 (x>0) T ar 2x—3) W AT T
A X1 2

V25

<3 4

<43

Question ID : 98958017267
Status : Not Answered
Chosen Option : --

Q.24 A 3l B 30 1 1 AR 15 A 3R 10 et & 9 3= @ £ s F\ # 175000 F [ A
F o 3= oo (Figae) &M &% &7 ufr F B = fg=wr (z &) gem

Ans  of 145,000
X 240,000
< 3. 35,000
X 4 30,000

Question ID : 98958017256
Status : Answered
Chosen Option : 4

3
Q.25 46— of32-6

4 -
3?—Euf(34—6} F TP AT S
Ans J11
X2 2

16

S

od

Xa2

Question ID : 98958017266
Status : Not Answered
Chosen Option : --




Section : English Language

Q.1 Fill in the blank with the most appropriate word.

The landlord is very about cleanliness and finds fault with all his tenants.
Ans J 1. fastidious

x 2. fabulous
x 3. pompous

x 4. ominous

Question ID : 98958016219
Status : Answered
Chosen Option : 1

Q.2 Select the most appropriate synonym of the given word.

IGNOMINIOUS
Ans x 1. wonderful

x 2. innocuous
J 3. disgraceful

x 4. generous

Question ID : 98958016209
Status : Answered
Chosen Option : 1

Q.3 Identify the segment which contains the grammatical error.

Climate change are a greatest threat facing our planet which needs our immediate
attention.

Ans J 1. are a greatest
x 2. our immediate attention
x 3. facing our planet
x 4. which needs

Question ID : 98958016194
Status : Answered
Chosen Option : 1

Q.4 Identify the segment which contains the grammatical error.

Great many students who are good at other subjects perform poorly in English.
Ans X" 1. who are good at

x 2.in English
x 3. perform poorly
J 4. Great many students

Question ID : 98958016195
Status : Answered
Chosen Option : 3

Q.5 Select the most appropriate synonym of the given word.




DISCOVER
Ans X 1 ignore

/5 2. hide
x 3. neglect
o 4 find

Question ID : 98958016208
Status : Answered
Chosen Option : 4

Q.6 Identify the most appropriate option to substitute the underlined segment. If no substitution
is required, select No substitution.

This was an only the mistake he made.
Ans X" 1. only the mistake

X 2. the mistake only
J 3. the only mistake

X 4. No substitution

Question ID : 98958016199
Status : Answered
Chosen Option : 2

Q.7 Select the most appropriate word for the group of words.

One who eats too much
Ans X 1. overweight

X 2. obese

x 3. corpulent

J 4. glutton

Question ID : 98958016214
Status : Answered
Chosen Option : 2

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Each child deserves love and care. The child who is (1) for what he is even if he is slow
or (2) , will grow with confidence in himself. He will (3) the ability to make the
best use of the (4) which come his way and make light of any (5) that may pose
difficulties in his path.

SubQuestion No : 8
Q.8 Select the most appropriate option to fill in blank number 1

Ans X" 1. rebuked

x 2. jeered
(3. appreciated
x 4. thanked

Question ID : 98958016201
Status : Answered
Chosen Option: 1




Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Each child deserves love and care. The child who is (1) for what he is even if he is slow
or (2) , will grow with confidence in himself. He will (3) the ability to make the
best use of the (4) which come his way and make light of any (5) that may pose

difficulties in his path.

SubQuestion No : 9
Q.9 Select the most appropriate option to fill in blank number 2

Ans X" 1_courteous

« 2. clumsy
X 3. capable
x 4. clever

Question ID : 98958016202
Status : Answered
Chosen Option : 1

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Each child deserves love and care. The child who is (1) for what he is even if he is slow
or(2) , will grow with confidence in himself. He will (3) the ability to make the
best use of the (4) which come his way and make light of any (5) that may pose
difficulties in his path.

SubQuestion No : 10
Q.10 Select the most appropriate option to fill in blank number 3

Ans X" 1. consider

x 2. maintain
« 3. develop
X 4. conceal

Question ID : 98958016203
Status : Answered
Chosen Option: 3

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Each child deserves love and care. The child who is (1) for what he is even if he is slow
or (2) , will grow with confidence in himself. He will (3) the ability to make the
best use of the (4) which come his way and make light of any (5) that may pose

difficulties in his path.

SubQuestion No : 11
Q.11 Select the most appropriate option to fill in blank number 4

Ans x 1. favours

( 2. opportunities
x 3. threats
X 4. dreams

[ Question ID : 98958016204




Status : Answered
Chosen Option : 3

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Each child deserves love and care. The child who is (1) for what he is even if he is slow
or (2) , will grow with confidence in himself. He will (3) the ability to make the
best use of the (4) which come his way and make light of any (5) that may pose

difficulties in his path.

SubQuestion No : 12

Q.12 Select the most appropriate option to fill in blank number 5

Ans

x 1. intrusions

x 2. consequences
X 3. prohibitions

( 4. handicaps

Question ID : 98958016205
Status : Not Answered
Chosen Option : --

Q.13 Select the most appropriate word for the group of words.

people who enjoy social company

Ans X 1. herbivorous
J 2. gregarious
X 3. gorgeous
X 4. unanimous
Question ID : 98958016215
Status : Not Answered
Chosen Option : --
Q.14 Select the most appropriate indirect form of the given sentence.

She said to you, "l have a thousand rupees in my purse now."

Ans X 1. She said you that she have a thousand rupees in my purse then.
x 2. She told you that she has a thousand rupees in my purse now.
X 3. She told me that she had a thousand rupees in her purse now.
J 4. She told you that she had a thousand rupees in her purse then.
Question ID : 98958016197
Status : Not Answered
Chosen Option : --
Q.15 Select the most appropriate passive form of the given sentence.

Ans

Please lock the door.

x 1. You are being ordered to lock the door.
X 2. Please let the door be lock.
x 3. The door should kindly being locked.

( 4. You are requested to lock the door.




Question ID : 98958016196
Status : Not Answered
Chosen Option : --

Q.16 Given below are four jumbled sentences. Out of the given options pick the one that gives
their correct order.

A. Till quite recently the trend was to go to the west that offered advanced medical
facilities.

B. This is because it has on offer the highest level of services, facilities and professional
skills.

C. But over the last decade the trend has reversed and India is being chosen for medical
tourism.
D. Today, it is not uncommon to travel to a foreign country for medical treatment.

Ans  of 1 DACB

/5 2.BCDA
#< 3.CBDA
/5 4.ABCD

Question ID : 98958016207
Status : Not Answered
Chosen Option : --

Q.17 Select the correctly spelt word.
Ans X" 1. genuin

X 2. genwin
x 3. genune
( 4. genuine

Question ID : 98958016216
Status : Not Answered
Chosen Option : --

Q.18 Select the wrongly spelt word.
Ans X" 1 beggar

x 2. eager
J 3. vehical
x 4. value

Question ID : 98958016217
Status : Not Answered
Chosen Option : --

Q.19 Identify the most appropriate option to substitute the underlined segment. If no substitution
is required, select No substitution.

He is a good singer of the two.
Ans ( 1. the better singer

x 2. No substitution

X 3. the good singer

x 4. the best singer




Question ID : 98958016198
Status : Not Answered
Chosen Option : --

Q.20 Select the most appropriate meaning of the given idiom.

Rule the roost

Ans X 1. to frequently pick a quarrel
x 2. to be prosperous but generous
X 3. to blindly follow others

J 4.to make all the decisions

Question ID : 98958016213
Status : Not Answered
Chosen Option : --

Q.21 Fill in the blank with the most appropriate word.

We must not lose heart in times of .
Ans X" 1. deformity

( 2. adversity
x 3. inactivity
X 4. diversity

Question ID : 98958016218
Status : Not Answered
Chosen Option : --

Q.22 Given below are four jumbled sentences. Out of the given options pick the one that gives
their correct order.

A. This kindness converted his street into a neighbourhood.

B. He and his wife were always ready to lend a helping hand.

C. Mohan was an ideal neighbour in every way.

D. Whether it was lending tools or watering fields, the couple embodied neighbourly
kindness.

Ans X 1.CDAB

/< 2.BDAC
/< 3.DBCA
o 4.cBDA

Question ID : 98958016206
Status : Not Answered
Chosen Option : --

Q.23 Select the most appropriate antonym of the given word.

LOYALTY
Ans X" 1. faith

( 2. treason
X 3. fidelity
x 4. trust

[ Question ID : 98958016210




Status : Not Answered
Chosen Option : --

Q.24 Select the most appropriate meaning of the given idiom.

Through thick and thin

Ans J 1. support under all circumstances
x 2. passing through a thick forest
X 3. to be hard-hearted in times of loss

x 4. to be scared of small dangers

Question ID : 98958016212
Status : Not Answered
Chosen Option : --

Q.25 Select the most appropriate antonym of the given word.

RETALIATION
Ans “ 1. reconciliation

x 2. regression
x 3. retrospection
x 4. retribution

Question ID : 98958016211
Status : Not Answered
Chosen Option : --




